Assignment 2

Stata Exercise

For the following questions, use the Virginia Health dataset posted on the class web page.
The dataset contains survey information from Virginia residents in the year 2000. These

data were collected as part of the CDC’s Behavioral Risk Factor Surveillance System

which is an excellent source for individual-level health data.

The variables are defined as follows:

State: state of residence (Virginia for all)

Stateid: State abbreviation (VA for all)

Year: Year of survey (2000 for all)

Insurance: Indicator = 1 if insured; 0 if not insured

Age: age in years (I restricted sample to those between ages 35 and 65 to make the

dataset smaller)

Educa: Scale 1-6 representing education level (1 is no education; 6 is graduate education)

Weight: Individual’s self-reported weight (in pounds)

Sex: Individual’s sex (1=male; 2=female)

BMI: body mass index

Smoker: Indicator of whether individual smokes (1=smoker; 0 = non-smoker)

Race: Indicator of individual’s race

Married: Indicator of whether individual is currently marries (1=married; 0=not married)

Sepdiv: Indicator of whether individual is currently separated or divorced (1=yes; 0=no)

Children: Number of children under the age 18

Employed: Indicator of whether individual is employed or not (1=employed;

0=unemployed)

Unemployed: Indicator of whether individual is unemployed or not (1=unemployed;

0=not unemployed)

Income: Income in $ for individual last year

Htinches: individual’s height in inches

1) Assume that an individual’s weight has a quadratic relationship with his age and

income. What variables do you need to create if you are going to include age and

income (as quadratics) in your regression? Create these variables.

2) Assume that men are systematically heavier (i.e., weigh more) than women. How

will you include sex in your regression? Do you need to create another variable?

If so, create that variable.

3) Regress weight on age (as a quadratic), income (as a quadratic), sex (or the

variable you created in #2), education, married, and height.

a. Is there a quadratic relationship (significant or not) between weight and

age? If not, is there a linear relationship (significant or not) between

weight and age?

b. Are men significantly heavier than women?

c. How confident can you be that height is a statistically significant

determinant of weight?

d. What is the 95% confidence interval for the effect of being married on

weight? Is education statistically significant if you assume a 5% Type I

error (two tailed test).

e. How much of the variation in weight can you explain with this regression?

4) Include race dummies for the regression above.

a. Does this new regression explain more of the variation in weight?

b. Which test statistic did you use to answer 4.a and why?

5) Run the regression from #3 again, dropping height.

a. Do any of your coefficients change substantially?

b. For the change in the coefficient for your sex variable, tell an omitted

variables bias story to explain the difference between the two results.

6) Run the regression from #4 again and add smoker to your regression.

a. How big of a type I error can we allow and still declare statistical

significance for the smoker coefficient?

b. Are the race effects jointly statistically significant?

c. Your married coefficient is positive (though not statistically significant).

Tell an economic story about why married people might weigh more.

d. What is your F statistic (for the whole regression; not for the test you ran

in part b)? What does it imply?

